
 

1 
 

 

 khfhzf; fy;tpj; jpizf;fsk ; 

tlf;F khfhzk ; 

,uz;lhk; jtizg; guPl;ir − 𝟐𝟎𝟐𝟐 

  juk; -  𝟏𝟏                                     fzpjk; 𝐈     

Neuk; - ,uz;L kzpj;jpahyak; 

 

 

 

  

  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 gFjp   tpdh vz;   Gs;spfs; 

guPl;rfupd; cgNahfj;jpw;F khj;jpuk; 

   A       1 −  25  

      1        

      2        

      4        

      3        

      5       

B 

      nkhj;jk;        

Kf;fpak; 
 ,t;tpdhj;jhs; 𝟖 gf;fq;fisf; nfhz;lJ. 
 ,g;gf;fj;jpYk; %d;whk; gf;fj;jpYk; Fwpj;j 

,lq;fspy; ckJ Rl;nlz;izj; jpUj;jkhf 
vOJf. 

 Vy;yh tpdhf;fSf;Fk; ,t;tpdhj;jhspNyNa 
tpil vOJf. 

 tpilfis vOJtjw;Fk; mt;tpilfisg; 
ngw;w tpjj;ijf; fhl;Ltjw;Fk; xt;nthU 
tpdhTf;Ff; fPNoAk; tplg;gl;Ls;s 
,lj;ijg; gad;gLj;Jf. 

 tpdhf;fSf;F tpil vOJk;NghJ cupa 
gbKiwfisAk; rupahd myFfisAk; 
fhl;Lf. 

 fPo;f; Fwpg;gpl;lthW Gs;spfs; toq;fg;gLk;. 

gFjp 𝐀 ,y; 

xt;nthU tpdhtpd;; rupahd tpilf;F 2 
Gs;spfs; tPjk; 

gFjp 𝐁 ,y; 

xt;nthU tpdhtpd;; rupahd tpilf;F 10 
Gs;spfs; tPjk; 
 

 

…………………… 

guPl;rhu;j;jpapd; ngau; 

……………………… 

Rl;nlz; 

 

 

 

 

 

 

 

 

 

Mrpupau; ngau; …………. 

Mrpupau; xg;gk;…………. 
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gFjp I (A) 
vy;yhtpdhf;fSf;Fk; tpil jUf. 

01) &gh 500 ngWkjpahd nghUs; xd;wpid ,wf;Fkjp nra;Ak; NghJ 8% VAT tup 

mwtplg;gLfpd;wJ. VAT tup cs;slq;fyhf nghUspd; nkhj;jg; ngWkjp ahJ? 
 
 
   
 

02)        √40 ve;j ,U KOvz;fSf;fpilapy; mike;Js;sJ? 
 
 
 

03) 𝑎 ,d; ngWkjpiaf; fhz;f. 
 
 
 

04) 𝑙𝑔3 = 0.4771 vdpd; ,jidr; Rl;b tbtpy; jUf. 
 
 

05) fhuzpg;gLj;Jf. 𝑥2 + 17𝑥 + 42 
 
 
 

06) 𝑃, 𝑄 vd;gd jk;Ks; GwePq;Fk; epfo;r;rpfshFk; vdpd; 𝑃(𝐴) =
1

3
, 𝑃(𝐵) =

1

4
 MFk; vdpd;  𝑃(𝐴 ∪ 𝐵) 

If; fhz;f. 
 
 
 

07) cUtpy; jug;gl;l jfty;fisg; gad;gLj;jp 𝑥 ,d; ngWkhdj;ijf; 
fhz;f. 
 
 
 
   
      

08) 2𝑥 + 1 ≤ 5 vd;Dk; rkdpypiaj; jPu;j;J Neu; epiwntz;fis vz;Nfhl;by; Fwpf;Ff. 
 
 
 
 

09) jug;gl;l Miur;rpiwapd; tpy; 𝐴𝐵 ,d; ePsj;jpidf; fhz;f. 
 
 
 

 

110° 

80° 

𝐷 𝐶 
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0 -1 -2 2 1 -3 3 



 

3 
 

A 

C 

D 

O 

B 

10) (𝑎 + 𝑏)2 = 18 ck; 𝑎𝑏 =  −2 vdpd; 𝑎2 + 𝑏2 ,d; ngWkhdj;ijf; fzpf;f. 
 
 

 
11) 1 njhlf;fk; 10 tiuAs;s vz;zplg;gl;l ml;ilfs; xU igapDs; cs;sd. igapDs; 
ghu;f;fhJ vOkhw;whf xU ml;il vLj;jNghJ mt;tl;ilahdJ xU Kf;Nfhz vz;zhf 
my;yJ rJu vz;zhf ,Ug;gjw;fhd epfo;jfT ahJ? 
 
 
 
 

12) xU thfdk; 5km J}uj;jpidf; flg;gjw;F 30 epkplk; vLj;jJ vdpd; thfdj;jpd; fjpia 

kmh−1,y; fhz;f.  
 
 

13) (6,4), (0,1) vd;Dk; Gs;spfspd; Clhfr; nry;Yk; Neu;Nfhl;bd; rkd;ghl;ilf; fhz;f. 
 
 
 

 
14) cfe;j Nfj;jpu fzpjr; nrhw;fisg; gad;gLj;jp ntw;wplq;fis epug;Gf. 

xU tl;lj;jpd; ………………….. ,Ue;J ehZf;F tiuAk; nrq;Fj;J me;ehiz 

……………………………………… 

 

15) O MdJ tl;lj;jpd; ikakhFk;.glj;jpy; cs;s juTfisg; 

gad;gLj;jp gpd;tUtdtw;Ws; rupahapd; “√” vdTk; gpioahapd; “x” 

vdTk; ntw;Wf;$l;bidg; G+uzg;gLj;Jf 
 

i) 𝐴𝐷̂𝐵 = 𝐴𝐶̂B  

   

ii) 2𝐴𝑂̂𝐵 = 𝐴𝐶̂𝐵       

  

16) xU njhl;bapd;  
1

4
  gq;fpid epug;Gtjw;F 3 epkplq;fs; vLj;jJ vdpd; mj; njhl;bapd; 

1

3
  

gq;fpid epug;g vLf;Fk; Neuk; ahJ? 
 
 
 

17) ABC   Xu; nrq;Nfhz Kf;NfhzkhFk.; AB=8cm, ; rJuk;ACDE apd; 

gug;gsT 100cm2 vdpd; BC apd ngWkhdj;ijf; fhz;f. 
 
 
 
 

18) RUf;Ff. 
1

𝑥
−

2

3𝑥
 

Rl;nlz;: ………………………………… 



 

4 
 

𝑃 

𝑄 𝑅 

𝑆 𝑇 

20cm 

 
 

19) ∆𝑃𝑄𝑅 ,y; 𝑃𝑄, 𝑃𝑅 ,d; eLg;Gs;spfs; KiwNa 𝑆, 𝑇 MFk;. 𝑆𝑇, 𝑄𝑅 
,w;fpilapyhd ,uz;L njhlu;Gfisj; jUf. 
 
 
 

 

20) 880cm2gug;gsTk;,mfyk; 20cm MfTs;s nrt;tfj;jfl;il 
nfhz;L cUthf;f $ba cUisapd; FWf;Fntl;L 
Kfj;jpd; Miuiaf; fhz;f 
 
 

 
 

21) 2𝑎 + 7𝑏 = 10,3𝑎 − 2𝑏 = 5 vdpd; rkd;ghLfisj; jPu;f;fhJ 𝑎 + 𝑏 ,d; ngWkhdj;ijf; fhz;f. 
 
 
 
 

22) nrt;tl;l cUis xd;wpd; FWf;F ntl;Lg; gug;G 280m2 cauk; 5cm ck; vdpd; mt; 
cUisapd; fdtsT ahJ? 
 
 
 

23) cUtpy; 𝑃, 𝑄, 𝑅, 𝑆 vd;gd O I ikakhf nfhz;l tl;lj;jpd; kPJs;sd. 

𝑃𝑄 = 𝑄𝑅 ck; 𝑅𝑆̂𝑄 = 35° vdpd; 𝑃𝑄̂𝑅 ,d; gUkidf; fhz;f. 
 
 
 
 
 

24) fl;llk; xd;iw fl;b Kbf;f 9 kdpju;fSf;F 8 ehl;fs; Njitg;gLk;. ,t;Ntiyapd; 

miug;gq;fpid nra;J Kbg;gjw;F 12 kdpju;fSf;F vj;jid ehl;fs; Njitg;gLk;? 
 
 
 

 

25) 𝑄, 𝑅 Mfpad ,U epiyj;j Gs;spfs; MFk;. Kf;Nfhzp 𝑃𝑄𝑅 ,d; gug;gsT khwhjpUf;FkhW 

Gs;sp 𝑃 khWfpd;wJ. Gs;sp 𝑃 ,d; xOf;F ahJ? mjd; gUk;gb glj;jpid tiuf. 
 
 
 
 
 
 
 

O. 
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gFjp I (B) 

vy;yh tpdhf;fSf;Fk; tpil jUf. 

1) a. RUf;Ff. (
2

3
+

1

2
) ÷ 1

1

3
 

 
 
 
 
 
 
 

b. xUtu; jd;dplKs;s fhzpapd; 
1

3
 gq;if kidtpf;Fk; kPjpapy; 

1

5
 gq;if kfSf;Fk; 

nfhLj;jhu;. 

i) kidtpf;Ff; nfhLj;j gpd; vQ;rpa fhzp KOtjd; vd;d gpd;dkhFk;? 
 
 
 

ii) kfSf;Ff; fpilj;j fhzp nkhj;jf; fhzpapd; vd;d gpd;dk; vdf; fhz;f. 
 
 
 
 
 

iii) jw;NghJ mtuplk; cs;s kPjpf; fhzpapapd; msT 16 n`f;uau; vdpd; KOf; fhzpapd; 
msitf; fhz;f. 
 
 
 
 

iv) kfSf;F fpilj;j fhzpapd; ngWkjp &gh 200,000 vdpd; kidtpf;F fpilj;j fhzpapd; 
ngWkjp ahJ? 
 
 
 
 
 

2) jug;gl;Ls;s cUtpy; rJug; gFjpAk; fhy;tl;l gFjpAk; nfhz;l fhzpapd; gUkl;lhd glk; 
fhl;lg;gl;Ls;sJ. 

i) rJug;gFjpapd; xUgf;f ePsk; ahJ?  

 

 

 
 

ii) tpw;gFjp 𝐷𝐶 ,d; ePsj;ijf;fhz;f. 
 
 
 

𝑨 𝑩 𝑪 

𝑫  

28m 
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iii) cUtpd; Rw;wsitf; fhz;f. 
 
 
 
 

iv) ,t;TUtpd; gug;gsitf; fhz;f. 
 
 
 

v) ,f; fhzpiar; Rw;wp Kl;fk;gp mbg;gjw;F 1m ,w;fhd nryT &gh 80 vdpd; 2 epiu 
Kl;fk;gp mbg;gjw;fhd nryitf; fhz;f. 
 

 
 

 
         

3) a. efurigf;Fl;gl;l fhzp xd;wpd; kjpg;gPl;Lg; ngWkhdk; &gh 50,000 MFk; efurigahdJ 

8% ,iwtupia mwtpLfpd;wJ. 

i. Xuhz;L ,iw tupiaf; fhz;f. 
 
 
 

 

ii. fhyhz;L ,iwtupiaf; fhz;f. 
 
 
 
 

b. kjpy; xd;iwf; fl;Ltjw;F 8 kdpju;fSf;F 10 ehl;fs; Njit vd kjpg;gplg;gl;Ls;sJ. 

i. ,t;Niyapd; msT vj;jid kdpj ehl;fs; vdf; fhz;f. 
 
 
 
 

,t;Ntiy Muk;gpj;J 4 ehl;fspd; gpd;du; ,Utu; Ntiyf;Fr; rKfkspf;ftpy;iy  

ii. vQ;rpa Ntiyia 6 kdpju;fSk; vj;jid ehl;fspy; nra;J Kbg;gu;? 
 
 
 
 

 

iii. Nkw;Fwpj;j Ntiyia Kbg;gjw;F kjpg;gpl;l ehl;fspypYk; vj;jid ehl;fs; Nkyjpfkhf 
Njitg;gLk;? 
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k
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Gs;spfs; 

7 – 

6 – 

5 – 

4 – 

3 – 

2 – 

1 – 

0 – 

 

10        20        30        40        50        60        

 
 
 
           

4) tFg;G xd;wpYs;s khztu;fs; guPl;ir xd;wpy;  ngw;w Gs;spfs; gw;wpa tpguk; fPNo 
jug;gl;Ls;sJ. 

Gs;spfs; 
 

0 − 20 20 − 30 30 − 50 50 − 60 

khztu; 
vz;zpf;if 

… … … … … … 05 12 07 

 

i. jug;gl;l tiyAU tiuaj;ij gad;gLj;jp Nky; cs;s ntw;wplj;jpid epug;Gf. 

 

ii. tiugpidg; G+uzg;gLj;Jf. 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

iii. ,t;tiyAU tiuaj;jpy; kPbwd; gy;Nfhzpiag; G+uzg;gLj;Jf. 
 

iv. ,j;jftiy tl;l tiugpy; Fwpf;Fk; NghJ 30 − 50 Fwpf;Fk; Miur;rpiwf; Nfhzk; ahJ? 
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5) a. ignahd;wpy; 4 rptg;G 2 nts;is khgps;fs; cs;sd. 
khztd; xUtd; khgps; xd;iw vLj;J mjd; epwj;ijf; 
Fwpj;j gpd;du; kPz;Lk; igapDs; ,l;L ,d;ndhU khgps; 
ntspNa vLf;fpwhd;. 

i. ,j; jftiy nea;aupapy; Fwpf;Ff. 
 
 
 
 

 

 

ii. ,U khgps;fSk; xNu epwKiladthf ,Ug;gjw;fhd epfo;jfitf; fl;lkpl;Lf; fhl;b 
epfo;jfit vOJf. 
 
 

iii. Kjyhk; jilt rptg;Gk; ,uz;lhk; jilt nts;is khgpSk; fpilg;gjw;fhd epfo;jfitf; 
fhz;f. 

 
 
 

b. tpijnahd;W Kisg;gjw;fhd epfo;jfT 
4

5
 MFk;. Kisj;j kuk; fha;g;gjw;fhd epfo;jfT 

9

10
 

MFk;. 

i.  fPNo jug;gl;l kutupg;glj;ij gad;;gLj;jp tpj;J Kisf;Fk; Kisf;fhik vd;gtw;wpd; 
epfo;jfTfis cupa ,lj;jpy; Fwpf;Ff. 
 
 
 
 
 
 
 
 
 
 

ii. kutupg;glj;ijg;  tpupTgLj;jp Kisj;j kuk; fha;g;gjw;fhd epfo;jfitf; fhz;f. 

2 
k
; 
j
l
i
t

 
 

1 k; jlit 
 


